
MEC-101  No. of Printed Pages :11 

MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

MEC-101 : MICROECONOMIC ANALYSIS 

Time : 3 Hours] 
	

[Maximum Marks : 100 

Note: Answer questions from each Section as per 

instructions given. Section-A: Attempt any two 

questions from this Section. Section-B:Attempt any 

five questions from this Section. 

Section-A 

1. 	Utility function and budget constraint are given as 
U (X, Y) = a logX + (1 — a)logY, XPx  + Y .P y = I 

respectively. 	 10+5+2+3=20 

Where, Px  is the price of good X, P y is the price of 

good I', I is the consumers income and 'a' is any 

positive constant. 

(a) Derive the consumer's demand function for 
good Xand good Y. 

(b) Find out indirect utility function and prove Roy's 
identity 

(c) Are both goods (X and Y) related to each 

other? 
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(d) Calculate the own price elasticity of demand 

for good Xand good Y 

	

2. 	(a) In a Edgeworth box diagram, the initial 

allocation has Avik with all the food and Vikas 

with all the clothing. Is this allocation efficient? 

If not, show how Avik and Vikas will achieve 

an efficient allocation. 7 

(b) Discuss the second welfare theorem. 	8 

(c) Suppose Joe and James have identical utility 

functions, (U = X2) what would be the 

contract curve looklike? Explain. 	5 

(a) State Nash equilibrium under Bertrand price 

competition under homogeneous product 

duopoly. 	 8 

(b) Define risk averseness. What is the relation 

between certainty equivalent and curvature 

of the expected utility function of a risk averse 

individual ? 	 7 

(c) Explain the concept of adverse selection. 5 

	

4. 	(a) Prove that the iso-quant of Cobb-Douglas 

production function (Q = A L a  ICP) is convex to 

the point of origin. 

Where, Q = output, A Efficiency parameter, 

a and are share parameters of labour and 

capital respectively. 	 8 
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(b) Given Q = 100 10- 50• 5 , W = Rs. 30, 

r = Rs. 40..  

Find the quantity of labour and capital that the 

firm should use in order to minimize the cost 

of producing 1444 units of output. 	8 

(c) Define homogeneous function and homothetic 

function. 

Section-B 

5. 	(a) Explain the Stackelberg duopoly model. 	6 

(b) Demand function and supply function are given 

as P = 25 — X2  and P = 2X + 1 respectively, 

then find out the consumer surplus and 

producer surplus. • 6 

(a) A monopolist uses one input X, which she 

purchases at the fixed price r = 5 to produce 

her output, q. Her demand and production 

functions are P = 85 —' 3q and q = 21-1 

respectively. Derive the equilibrium output and 

equilibrium profit. 	 6 

(b) What is the excess capacity and how is it 

related to the model of monopolistic 

competition? 	 6 
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(a) Graphically explain where does the equilibrium 

occur in Cournot Duopoly Model? Is it a 

suboptimal equilibrium? 	 6 

(b) Prove the following implication of the single 

crossing property. If CZ (x)>C;(x); for all x, 

then for any two distinct levels of output x 1 

 and x2  for which x2 > x 1 , we must have 

c2 (x2)-(2 (xl) > cl (x2)- cl (xi )• 
	 6 

8. (a) How do you show that every competitive 

equilibrium is Pareto optimal? 	 6 

(b) Briefly explain equity efficiency trade off. 	6 

9. (a) Explain the concept of Moral Hazard through 

suitable example. 	 6 

(b) Suppose an invester is concerned about a 

business choice in which there are three 

prospects are given below: 

Probability Returns 
0.4 100 
0.3 30 
0.3 -30 

What is the expected value of the uncertain 

investment? 	 6 
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10. (a) Define Nash equilibrium. 	 4 

(b) Consider the following battle of Sexes Game. 

Derive the mixed strategy Nash equilibrium. 

Are there any pure strategy Nash 

equilibrium? 8 

Wife 

Husband 

Football Movie 

Football 3, 1 0, 0 

Movie 0, 0' 1, 3 

11. (a) Define games of complete and incomplete 

information. 	 4 

(b) From the following pay-off matrix, where the 

payoffs (the negative values) are the years of 

possible imprisonment for individuals A and B, 

determine: 8 

(i) The optimal strategy for each individual. 

(ii) Do individuals A and B face a prisoners 

dilemma? 

Individual-B 

Individual-A 

Confess Don't confess 

Confess (-5, —5) (-1, —10) 

Don't confess (-10, —1) (-2, —2) 
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12. Write short notes on any three  of the following: 

4+4+4 

(a) Arrow Pratt measure of risk averseness. 

(b) Economies of scale 

(c) Different types of price discrimination 

(d) Pooling and separating equilibrium 

-X- 
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